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BusHec-napK "KoXXeBHHKH"
YA. AepbeHeBcKan A. 20 cTp.23

Nel
No2
MNe3
Ned
N5
MN26
Ne7
Mg
N29
Nel0
Nell

20,6 KE.M. - BBB y.e. /mec
23,8 KE.M. - 992 y.e. / mec
19,9 KE.M. - B29 y.e./ Mec
B7,8 KE.M. - 3 292 y.e,/ Mec. ( 4 KOMHAT + ¢/Y)
42,5 KB.M. -1 771 y.e./ Mec
36,8 KB.M. - 1 533 y.e. / mec
29,9 KB.M. - 1 246 y.e. / mec
12,5 KB.M. - 521 y.e. /mec
27,4 KgE.M. -1 142 y.e. / mec
16,1 KE.M. - 671 y.e/ Mmec
7,0 KB.M. - 233 y.B. / mec

* B cTasry BxoanT HAC 18%, 3NeHTPHYECTED
onaauneaeTch otgensHo [ no awry)



